Card Predict Code Mock 2014 Mark Scheme
Question 1
[image: ][image: ]
Question 2
[image: ]
[image: ]
[image: ]
Question 3
[image: ]
[image: ]


Question 4
	Sub Main()
	Dim CurrentGuess As Char
	Dim CurrentFlip As Char
	Dim NumberOfCorrectGuesses As Integer
	Const NumberOfFlips As Integer = 5
	Dim FlipSequnce As String = "XHTHTT"
	Do
	Console.WriteLine("Plaese Guess Heads (H) or Tails (T)")
		CurrentGuess = Console.ReadLine
		Console.WriteLine("Coin Fliping....")
		CurrentFlip = FlipSequnce(NumberOfCorrectGuesses)
		Console.WriteLine("The coin landed " & CurrentFlip)
		If CurrentGuess = CurrentFlip Then
			Console.WriteLine("welldone. Lets flip again.")
			If NumberOfCorrectGuesses = NumberOfFlips Then
				Console.WriteLine("Congratuations You completed the sequence. Game Over")
			End If
			NumberOfCorrectGuesses = NumberOfCorrectGuesses + 1
		Else
			Console.WriteLine("sorry you guessed incorrectly. GAME OVER")
		End If
	Loop Until CurrentFlip <> CurrentGuess Or NumberOfCorrectGuesses = NumberOfFlips
	Console.WriteLine("you guessed " & NumberOfCorrectGuesses & "flips correctly")
	Console.ReadLine()
End Sub

	3 marks for correct declaration of all variables with initialisation. 
-1 for each error down to 0

2 Marks for correct writeline statements A typos. -1 for each missed

2 marks for nested if’s

2 marks for loop with correct logic
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Question 5
25	NoOfRecentScores								(1 mark)
26	Choice, PlayerName	(may be others?)					(1 mark)
27	IsNextCardHigher								(1 mark)
28	Name and Score (need both for mark)						(1 mark)
29	2										(1 mark)
30	0										(1 mark)
31	Higher										(1 mark)
32	(c) and (d) (must have both and no others)					(1 mark)
33	Because the scope; of the two variables is different; //
Because they are both local variables; in different subroutines;			(2 marks)

  (Total 10 marks)


Question 6
   Function IsNextCardHigher(ByVal LastCard As TCard, ByVal NextCard As TCard) As Boolean
        Dim Higher As Boolean
        Higher = False
        If NextCard.Rank > LastCard.Rank Then
            Higher = True
        ElseIf NextCard.Rank = LastCard.Rank And NextCard.Suit > LastCard.Suit Then
            Higher = True
        End If
        Return Higher
    End Function
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Question 7
    Sub UpdateRecentScores(ByRef RecentScores() As TRecentScore, ByVal Score As Integer)
        Dim PlayerName As String
        Dim Count, highscorePosition As Integer
[bookmark: _GoBack]        Dim IsHighScore As Bo olean
        PlayerName = GetPlayerName()
        IsHighScore = False
        Count = 1
        While Not IsHighScore And Count <= NoOfRecentScores
            If RecentScores(Count).Score < Score Then
                IsHighScore = True
                highscorePosition = Count
            Else
                Count = Count + 1
            End If
        End While
        If IsHighScore Then
            For Count = NoOfRecentScores - 1 To highscorePosition Step -1
                RecentScores(Count - 1) = RecentScores(Count)
            Next
            Count = NoOfRecentScores
        End If
        RecentScores(highscorePosition).Name = PlayerName
        RecentScores(highscorePosition).Score = Score
    End Sub

Correctly Identifying a high score(3 Marks)
Placing High score in correct place ( 4Marks)
Moving other scores correctly (4 marks) 
Working procedure (3 Marks)
Credit  recent score untouched with attempt at a sort.
Award 1 marks for testing if a sound display of the described tests are shown, regardless of algorithm. If test are in order for 4 games 2 marks. +1Mark for fifth score working shown
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Input Original State | Output | New State
0 SO 0 SO
1 SO 1 S1
0 S1 1 S1
1 S1 0 S1

Mark as follows:

SO0 as original state for 2" row;

1 as output for 3" row;
Final row correct;
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Unicode uses more bits for each character //

ASCII uses fewer bits for each character //

Unicode can represent a wider range of characters //
ASCII can represent a smaller range of characters //
Unicode uses 16/32 bits, ASCII uses 7 bits (A. 8 bits);
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Role of sender:

Sender counts/checks the number of 1s in the bit pattern/value/data; and
adds an extra bit to ensure even number of 1s;

"

Sender adds a 0 parity bit if there are an even number of 1s in the bit
pattern/value/data; if odd number of 1s then a 1 parity bit is added;

Role of receiver:

Receiver counts/checks the number of 1s in the bit pattern/value/data
received;

if there are an odd number of 1s it identifies that an error has occurred;
A. if even number of 1s it accepts the data received;

A. if even number of 1s data is assumed to be correct;

A. if odd number of 1s it requests that the data be resent;

R. if even number of 1s, data is correct

"

Receiver regenerates parity bit from data received; compares generated
parity bit with received parity bit — if different it identifies that an error has
occurred;

if the same it accepts the data received;

if the same data is assumed to be correct;

if different it requests that the data be resent;

if the same, data is correct

> Appr

an odd number of errors (in the bit pattern received) will be detected;

Marking Guidance

R. Implication that sender or receiver are people

MAX 2 if role of sender and receiver not included in answer

R. if mark point is about bit pattern being even/odd rather than the
number of 1s being even/odd
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12 | Error correction (not just error detection) (for single errors);
Can detect when two errors have occurred in data transmission;
Reduces the need for the retransmission of data;
Decreases the likelihood of an undetected error // improved error Max
detection; 1
R. Implication that the parity bits are calculated by a person
13 [ 0; 1
14 | 1,4,8;
1

Note: order of answers unimportant
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15 | 16 (bit);
A.2bytes

16 | 8,800,000 // 100 * 2 * 44,000;;
l
100;

2; A.16+8; A. different value for the sampling resolution (16) being
used in the calculation but only if matches answer to part 15
44,000;

MAX 2 if final answer incorrect
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Because of Nyquist's theorem // Because we should sample at least
double the highest frequency in the original sound;

Some people can hear higher frequencies than the average (so more
than double has been chosen);

There is no need to sample at a higher rate as humans won't notice any
difference in quality above this level // sampling at a lower rate would
mean that some people would notice the lower quality of the recording //
sampling at a lower rate would mean that some meaningful changes in
the analogue signal could be missed;

higher rate would require more, unnecessary, storage space;

Max

18

Compression has been used;

A. Explanation of a particular compression method that could have been
used on the recording e.g. lower sampling frequency used // lower
sampling resolution used;
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Play game Cwith shuffle)
Play game Cwithout shuffle)
Display recent scores

Reset recent scores

Display High scores

Reset High scores

You guessed correctly.
our score is now 1.

Ibo you think the next card will be
ard is the Tuo of Diamonds

e11 done! You guessed correctly.
our score is now 2.

Do you think the next card will be
ard is the Tuo of Spades

ell done? You gugssed correctly.
Vour score is now 3.

Ibo you think the next card will be
ard is the Three of Clubs

le11 done! You guessed correctly.

Do you think the next card will be

Please enter your name:

enter q to quitd: 2

higher

higher

higher

higher
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[Select an option from the menu Cor

fcard is the Ace of Clubs
Po you think the next card will be

fCard is the Tuo of Hearts

Uell donet You guessed correctly.
our score is now 1.

Do you think the next card will be

[Card is the Tuo of Diamonds

IGAME OUER?
Wour score was 1

Please enter your name: _

enter q to quit): 2

higher Center y or nd?7
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06 | 11101110;
R. 01110111
07 | 11101011;
DPT A. 11010111
08 | Get the two's complement (of a positive binary value) //

Converts a positive binary value into its negative equivalent;

A. It inverts all bits after the first 1 is received;





